LGSR i
¥B4 | R2 =1 #EER) = - wEINE FHO RS B &2
HOH JH R & (s )
HH - AR - FER - AR Biks HLAZ He (milal) o (40D KR e
JH R & HEs )
= 1
JH Hh )
= 1
(= H]
= 1
(=]
S 1
L ik A
S 1
ERLRA
= 1
N [ A e P ok
ha 0. 06
B R
= 1
ool &
ha 0.02
S5 5
= 1
MBI AEHE R O E
ha 0.02

=N

pi



LGSR i
¥B4 | R2 =1 #EER) = - wEINE FHO RS B &2
HOH JH R & (s )
HH - AR - FER - AR Biks HLAZ i (ilAD) e (4m) KR S
i FE R 1
= 1
i Gt
ha 0. 06
11t S [ S5 [ % D A
X 1
FH S 5T R
ha 0. 06
PSP X AR
ha 0. 06
MR AR
ha 0.06
HiRE ) P AR
= 1
HIREI R D S Rl
= 1
i FH
X 1
BRI B
= 1
AR
= 1
9 - TR I




B ERESR
¥EFs4 | R2=1 #ESN = - sumEE R B T
HOH s PR R
EH - TR - AR - A Bk HA & (i) Yo (4D B ES
P R AR [
km 0.08
eS|
2V 1
eS|
=, 1
e
2V 1
et HETAE 1
ES 1
[ERESES
=, 1
[ERE3E S
2V 1
il Gk
2V 1
FRE (RFT - 1E R )
=, 1
GRS (9D
2V 1
PR R (H )
2V 1
L U




LGSR i
¥B4 | R2 =1 #EER) = - wEINE FHO RS B &2
HOH [R5 234
HH - AR - FER - AR Biks HLAZ He (milal) o (40D KR e
B R
= 1
f e e
= 1
33 ¢
= 1
T B 2 ks
= 1
F R A S s
= 1
FHIRA S 3
= 1
BY)E DR
= 1
SEVTARFHAE
Fm2 0.24
B (ORI <)
= 1
Z O AR
= 1
— R LA
= 1
- TR I




N/ E[ \//\
éﬁi/\:ﬁ*ﬁ%
¥4 | R2=1+ &SI = - MmN ey E FHMFR A S
H H MRS5S
IHE - A - FRI - K Hiks =<¥iva e (gD Y (AR Tk i 22
FH i A S5 SRS T
= 1
5 - TR I




